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e 3T USIfEhRI—2015

1. Find the next term in the following series.
2,9, 28, 65; 126..c...

(A) 215
B) 219
© 217
(D) None of the above

Answer - C

2. One evening before sunset two friends
Sonal and Raju were talking each other
face to face. If Raju’s shadow was exactly
to his right. Which direction
facing ?
(A) North
(B) East
(C) South
(D) West

Answer - C 9
ters straight and then
sto the right. After this he

contmuously turns left and every time

walks 10, 5 and 10 meters respectively.
How far is he now from his starting
point ?

(A) 10 meters
(B)
©
(D) 3y5 meters

Answer - B

5.2 meters

5,/3 meters

1.

2.

3.

frefafea 4o # e v 3@ F:1
2,9, 28, 65, 126.......

(A)
(B)
() 217

(D) 3T H hIE T

Answer - C

T e T o Y & e i
@W%sﬂmw

Answer - C

U AR 5 Tt WY Fema § @n i aef
T 10 H Fom1 €| 399 T T R
T AR e gL I 10, 5 3 10 Hew
Tadl &1 9% 8 A YR Y e
WRE?

(A)
(B)
(€)

5,2 HIEt
53 HiE

(D) 3,5 H

Answer - B



4.

I am facing north. I turn 90° in the
clockwise direction and then 135° in the
same direction and then 270° anti
clockwise. Which direction am [ facing
now ?

(A) South - West

(B) South

(C) West

(D) North - West

Answer - D

Consider the following chart : @

Number of girls in a S \

What part of seats are vacant in the

school ?

, 3

(A) 3 part

B 2 par

(B) 3 par
7

(€) gpart

(D) None of the above

Answer - B

3R Y SR T T WY § T H G A

feem # et 90° T S : 1 fewm A 135°
9 T S A el @ g & fada fen A
270° g T H o feqn e w0 @1 42
(A) cfeo-vivem

(B) gfem

(C) ufy=m

(D) S-9fv=H

Answer - D

N

(D) T | 5 TE

Answer — B



6. Manishaisat27rank fromtopinamerit 6. 43 el %1 wioes i F w1 27 3

list of 43 students. What is her rank from WA 8| 38 WieA g9 ¥ el ¥ aR-w
the other side ? T B 7

(4) 10% (A) 105

(B) 15t (B) 157

&) T

(D) 16th

Answer - C

7. Find the term in place of '?’,

(A) 241 (A) 241
(B) 210 (B) 210
(C) 425 (C) 425

(D) 184 Answer-D (D) 184 Answer-D



Akash, Brajesh and Charu go for a dinner.
Each orders either Paneer Tikka or
Roasted chicken. |

(2)

If Akash orders Paneer Tikka then
Brajesh orders what Charu had
ordered.

If Brajesh orders Paneer Tikka then

Akash orders the dish that Charu
doesn’t order.

If Charu orders Roasted chicken

then Akash orders the dish that
Brajesh ordered.

Who among the three always orders the

same dish ?

(A) Akash b (7

(B) Brajesh - f:;'
L -~ £

(C) Charu 2% %

(D)

Answer — A"'.Il'l.ll f e

..11-'--1'?I F";ﬁ .qil u

¥ 1Y »
None of these Hmmm e
s

[
o
1

Ina E‘ﬁﬁﬁg:)?!party of a baby boy Pratik,
40 persons kissed him and 25 persons
shake hand with Pratik. 10 persens kissed
as well as Shake hand with him. How
many persons are there in a party ?

8.

FEW, TAY AR TE qH 99 F WH T
YT | YT A TR feawm a1 e fHE
1 e fean|

(a) A ST WX fearht &1 SFTET <l ¢
UEENEREISE R ok KT
e |

(b) AR T TR e @ SfET S @
T QAT 5 |

() A = s fo aAfet g & d
EEGIEA AL

I ‘5._' *:. 1l
R Fﬂﬁ@m T e e = 37
, 3 f 3 G

|
1

(D) %™ 9§ FE Tl

Answer — A

@ BI¢ T TdF HI St TRl T
40 ST 7 58 T foRen 8K 25 @ 7 3R
a9 feran, 10 0T 3 g off e 31 &
it e, srad 9§ o @ o 92

(A) 25
(B) 55
(©) 75

(D) 35 Answer-B



10.

11.

The reflex angle between the hands of the 0. ¥t % el % o719 10 : 25 T eI (reflex

clock at 10 : 25 is : : angle) B :
(A) 180° (A) 180°
1 ] - - 110:

B) 197— y 197—

®) 197 ® 1975

-~ . . 3°
(Q) 195— (C) 195—4—

(D) 190° (D) 190°

Answer - B Answer - B ".‘5
Which of the following graph shows 1. frefofed 4 9 #r—m 'QTEF 0 A & T

relationship between the pressure and
volume of a gas 7

8
Volume
(A)
Pressure P
e
(B) (B)
Pressure ’
\
Volume
(©)

Pressure P Pressure P

(D) Data Insufficient Answer—B (D) STT4T< BTZ  Answer—B



12.

13.

If a+bmeansa—b 12. If€ a+bF GGG 2§ a—b

a—b means aXb a—b &1 Hq@d g axb
axb means a+b | axb F Aq@d Ta+b
a+b means a+b a+b & Tqa€ §a+b
Which of the following statement gives i frefofed 7 § e %o &1 9 § 8 ?
value 8 7
(A) 1+2-6%3+8 (A) 1+2-6x3+8
‘2;:1:',
(B) 1-2+6x3+8 (B) 1—2+6X3+8 IS -;f:_ '=i|;
| &% . t,’:ii-,".*.. ;
(C) 1-2x6+3x8 Q) 1-2x6+3%8
) A4 | . L_rﬂ;'l:-"l_ e
D) None of these D @%"ﬁﬁéﬂﬁ
(D) i @L
- U
Answer — B P, ¥ "'".r Answer — B
R T

Fill in the blank sp@ﬁ % ﬁe %ﬁtﬁ:\ung 13 fyeAferfan oo ¥ a0 &1 i &4 :
table : , >

8 7 11123
3 g8 | 7 |18
9 1158249
10 B313]9]2]10
(A) 22 (A) 22
(B) 23 (B) 23
(©) 24 (C) 24

(D) 25 Answer —D (D) 25  Answer-D



14.

15.

Read the following two statements and 14,
two conclusions and decide which of the
conclusions logically follow the given
statements :
Statements :

Answer-D
Al gooa athletes win.

All good athletes eat
well.
All those who eat well
are good athletes.

IT : All those who win eat

well

(A) Only conclusion I follow.
(B) Only conclusion IT follow.
(C) Both conclusions I and II follow.
(D) Neither conclusion I nor II follows,

Conclusions I :

If square stands for hard workin
stands for employed, the triang

for rural and rectangle stands
intelligent. Study the following figureand
answer the following questions :

Rural hard working people who are
neither employed nor intelligent are
indicated by region :

15..

A fe 7 2 e e ) el e | el
HIFE/ T R Fo] G o 71 %

Answer -D

FUT: WY =8 uyEr e 2

YT 37 VYT o= W B\ 5 |
frepd 1: o ot <t orem @t ¥ o
TYATE § |
I ;o gt <0 forem € aremn @ £

(A) Hae e 1 ore 2 & | N
(B) had oy 1191 2 &
() aﬁ’fﬁmﬁmﬁnm

plipkeRizee R R Erich
#R A 3R AW 7§ 5 g A @
AN ?

(A) 6 (A) 6
(B) 5 (B) 5
9 4 Answer —C Q3 Answer - C
(D) 4 (D) 4




 16.

17.

18.

If  a+bmeans ais daughter of b 6. A% a+bF HAAI T a, b 9 7

a—b means a is husband of b a—bﬁﬂw%a,bwqﬁi%
ax b means a is brother of b ax b %1 TGEd &, a, b H G &
What does the relation pxq—1 show ? W pxq—r T UM B :
(A) p is son-in-law of r (A) p,rlTHR gl
(B) pisbrother of r (B) p,r¥ 9E %I
(C) riswifeof p (C) 1,p® U T
(D) None of these (D) T § FFE Tl
Answer -D Answer -D
If South-East becomes North. Then in the . I TO-TE, I 99 TH o @{5‘( q
same way what will West become ? ‘?ﬁﬁm fd‘\’ﬂ ERICEUI
(A) South-West

(B) East
(C) North-West
(D) South-East

Answer -D

. O\
e s
Q

Pointing to a photograph, Vandana says, ~ 1s. Tl TER 3l 3 TG <A1 7 el o8

“She is the elder daughter of my mother’s T o % ufd w1 9gt 99 3, @ TR &
husband”. How is person in photograph fer] SR FT o ol o W B 7

is related to Vandana ?

(A) Sister (A) @&

(B) Mother (B) ﬂT

(C) Sister in law (C) 75

(D) None of these Answer - A (D) & 9 FE T Answer—A



19.

20.

21.

22.

Which n#
diffarent f1

O Gthers 7

(&) 41
B o1
(C) 85
® 115 wer — D
W= nfns i+
2 otipang |~
+ mpans | x
B2 +1040x 6= 2
(A} 12
(B 13
(€] 1o
tﬁ) 18 Answer -D

-

What s tlr Heat termn in

Seuenoe
1501450,
(A o
(by 92

€ 93
D) 4

o *rRIeTep—2015

A

Wiich regibt] represents youngy, exiicated
and tnemployed persons ?
NG, F\,—Uneducated:
pemn 'l._l (f-;\\
ATk o ./)
\p| B/ 5
“\-fw — Empioyed
7 :
(&) 1
(B 2
) 3
(D) 4

pe followiiig number is o

20.

22.

ISl R o B T e e S T e )

(A} 41

(B) ¢

€ 53

(D) 115 Answer-D

KRS iR
% df =
G N
~ TR

82104 2% 6= \3
(A) 12 "{w
/14 Qe

(@., :la er-D

1,5 14,30,5, __2

(A) g1

B 02

() 93

(D) FULHG | T T T Answer—A

F9-W] 63 7@, fonem vd Fama T
EEseiiake o9

S,

(&) 1
(B 2
(C) 3
(B) 2

Answer — A



23, Fifid thié s i a mawwmw: | ]
IA36D7,__2 72V 3ANZ6D7,_2 L v
(A) 18G12 (A) 18G12
B 0613 (B) AG13
€ 18G1B (C) 18G13
(D) None of the above Answer —C (D) 27T | A7 M TE Answer -

24 pind the wrong term in the following 22 To=ieias srjFEs *r&n’ 2 TR

M 2.4, 84,8166, 12, 26| §, 16, 32
2.4, 8 4,8 16,6, 12, 26, 8, 10, 32.

(A) 16 (A) 16 \3
®) 26

(C) 32 |
: ﬁ““f’}w*ﬂ'ﬁﬂ Answer — B

25 Tow many among the
educated nor plays ]
shopkeeper ?

25. ﬁmﬁﬂﬁqﬂﬁmﬁwm

() 4 (A 4
(B) 6 B 6
Q) 12 © 1
o 1 AOSMET—C DL 1L, Answer -



26.

27.

28.

§
Which an of the following four logical
diagrams represents correcily he
relauonsﬂ[{ between Tenis players,
Crigke pjmc Stiidents 7
_ .l/ ),' K
Ay | |(H () I8l
Answer —B
f CAT=25
GEll =3
DOG=27
Then AWE= 17
(A) 28
(B) 29
© 30
(D) Nt)'lkg of %ﬂ‘lL‘ aliwe Answer —C |
Count the myimber of cubed g ﬁ% s
following rﬁg . A ._" "',:"' "
§ e M
247"
&
S S
N Dy
N S
(A) 92
(B) 87
() 89
(D) af Answer —D

--'l'—

e A R A - e, S
TR, fFe TS, 9 B & 9 Hayl
55| HEH-HE 79 5 7

f"-/\ -

'(._.)T ;‘\ D kfﬂ

\,x_. A
l‘Al (I ? (D)
Answer - B
7. UF CAT=53
GET=33
PDOG =27 Fi
AAMAWE=_? _(..:,‘5-': A\
HS ") . f:['_qll-. ‘-‘:_ g
\ o’ -.8 ﬂ..' . :'!:.. l.-'ll
B 20 AN

{(f _'30 ;_;-:r-l_rr
‘-:.I !;‘ .!}__-"‘"

'I.E.L '@!:m A W Answer - C

\

Fifas v W =9 %1 529 & TR 6

T
n NN
s
N 3
> \'-\-.
daats
. N N
" p ‘_‘
AN (s Q.
" N
|A) 92
() &7
() 89
D) 40 Answer-D



. 29.

Find the missing term In the following 20, FF=iferfias == 7 g 52 7 i
diagram :
5 b 8 5 5 6 8 | |5
3 5 g | 10 3 5 | ¢ |
2 11 13 13 2 11 13 1 13
16 | 18 | 19 w | 18 | 9
(A) 5 (A) 5
(B) 4 m ¢
(© @ @ 6
() Neone of the above  Answer - B oy mﬁﬁfﬁ‘lﬁ Answ‘é}?'—B

30.  What is the number opposite (o 5 in the 30, 'm’ F Wmﬁ 5% famig
dice position given below 2 FI-H 3% 57 | |
3 [P 2|4 6 Y] 8|3 3|22 1% 6|2 ﬁﬁ
(A) 1 (A) i |
(B) 2 (B) 2
(C) 3 (C) 3
(D) 6 Answer-B (D) & Answer—B




1
SE-E‘L* the one which is difforent from 51 F=fiEs ¥ 5= 3 fr = =0 =91

olhets :

(A} | CE A cE

(C) MQ

{]j' 5X  Answer-D Zﬂm gx Answer — D 4

e &) 15
(8)| 17 B 17

() 19 @ 19

{D}l Eaﬂ Answer — C {Eﬂ 2 Answer — C
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3. The productof two numbers is 67461
and thelr greatest common divisor s
21 then their least common multiple is
(A) 4461
(B) 4641
(C) 4861

(D) None of above

Answer - B

34. Acar,travelsadistancedonastfam' |

roadintwo hours and then refums to

the starting paint In next three hours..,

Its average speedis __ 4.

d g

M),

Answer - C

-

' i 8

33 7q & 3] 1 VR 97461 2 7 3
(A) 4451
(B) 4641
(C) 4861
(D)Nﬂ?ﬁﬁﬂ;ﬁﬁaai 7% Y
Answer—B q 3

34, @W@MWW(!@QW'&M
e § e e o e 3 e
1T 1 R 2 | 60 6 W

- Answer-C
&



5. |fd=ged (a,b), theHQCd(

36.

37.

y
d

Q|

(A) 1
(B) b
(€) 2
(D) d

Answer - A

A person purchase a scooter at certain
cost. After two years he sells it at 20%
loss. If he had sold it for ¥ 4,000 more
he would have got 20% profit. What
was the purchase of scooter ?

(A) 10,000%

(B) 20,000 %

(C) 8,000%

(D) Nong of above Answer=at

The value of )

163%{@7 f
10/%

(A) 1.2

®) }3

©)
10)5

(D) NOﬂB Of above Answer — A

35.

(93]

36.

37.

e d = god (a, b), T ged [%%J =

|
(A) 1 |
8 b !
©) 2

D) d Answer — A

@wﬁ@mmmmm
F 213 W AR TR W 20%3tﬁﬂ
m%lvﬁaﬁ‘tooof ik

20%*@1%1?!31 w [mmr
AN
(A), 1@&02 |

"8 (B}W‘OOO?

(©) 8000%
(D) mﬁ ﬁ a-?[g]ﬁ Answer — A

feriefas F1TF g &0 |
1 6)/2 x(2.7))4
104

(A) 12

12
(B) o

o 22
1o |
(D) T 8 G FE A Answer-A



2. Which of the following is least ratios ? se. Dot  waR B S ae e |
2o 87 67 47 25 37 67 47
7173 21 9% T
Ok A
a7 37
..
&7 67
=S | R
© % © 5 e
47 nswer — 47 N . ' ‘
(D) Tg‘ A b 3 (D) 1_5. | '_fﬂswe.r'-_' D
. Completa the following series | 4 ’&E@r&qa At ot <
BZ,HT, NN, 7, ZB N j ¥ BZ HT,NN, 7,78
(&) LF R A\ % (A} LF
Bsx o’ (B) 8X
| % ¥ |
(CHTH S (©) TH
(D) Tl " Answer-C (D) Tl Answer — C
4. Choose the correct altarnative to % ﬁqfﬁﬁ?ﬂ’m Ell @fﬁ?@?ﬁaﬁm
complete the following series : i 4
ahcs _ beaab_ca_bbe abca _beaab _ca _bbe _
(A) lccas (A) ccaa
(B) labac (B) abac
(C) bbaa (C) bbaa
(D) ;abba Answer -8 (D} abba Answer - B




“L Select the alternative box which can . 93 4T T T w0 @ gﬁz A

bie formed by folding the sheet ‘A’ TR &) 1 3
|
E E
A|B|C|D AlB|C|D
F F

-l

(D)-.M;a?above Answer — D (D) Wfﬁﬂ ﬁ-q ﬁg 74| Answer-D




42.

43.

R-ahb’ov'rows a cerfain sum of
money from a bank at 10% per
annum at compound interest. The
entire debt is discharged in full by
Ram on payment of two equal
amounts of ¥ 1,000 each, ong at the
end of the first year and the other at
the end of the second year, What is
the approximate value of the amount
borrowed by him 2

(A) T1,852
(B) %1736
(C) 1,694
(D) £1,792

Answer - B

betwee@ sﬁgﬂgrﬂs Il the number
of glf?”é}fﬂ ncreased by 10% their

numper s 363. What is the total
number sludents ir school now ?

(A) 763
(B) 803
(©) 770
(D) Nong of above  Answer-c

& ="

- e i !

& . = i
= 1 .

u in s 9

In a|school there umm 3

_gilr .
=

=
1=

i

e

a2 TG 45 5 10% A Shaie = 1

%0 9 T 3 & | T R 2w A
21,0006 @ fovvat o g 2 1 9o fivwm
e 3 % o 3 e g o g
4 11 39k 20 3w A o
T 7

(A) T1 852 4 J"-'b;i'!E;_‘ B\

i qiut&ﬁ

0 Mw‘egd,

D) T,

792 Answer-B

o, Foe v v e v o e

4 3% |afe rerut i aem 10% A
W )] T 363 3T, g g
ernfeal ot e o Felt 7

(A) 753
(B) 803
(0) 770
(D) 370 3 4 #§ TE Answer—c



4. \What Is the average of first thirty
natural numbers 7

(A) 20.5
(B) 155
(C) 7.75

(D) None of above Answer -8

ss. A botlle Is full of dettol. One fourth of
he dettol |s taken out and water I3
added this process is repeated thrice.
What is the rato of dettol andl viater
after third time 7

(A) 2836

(B) 26:39 aa %y

() 15:49

6. What will be next number in the
following sequence ?
2,10,30,68, ...
(A) 130
(B) 115
(C) 125
(D) None of aboye  Answer—A

o, TR PR e 1 A 1 B {

(A) 205
(B) 155
(€) 7.75
D) T B A FE A Answer-B

. G A B R T e
mmmelmw

(B) 25:39
(C) 15:49
(D) Wﬁ?ﬁiﬁaaﬁéqﬁ Answer - D

47. mWﬁmEWM'?
2,10,30,68, ....
(A) 130
(B) 115
(C) 125
(D)gqﬂaaﬁ@-{qﬁ Answer — A



47.

48.

Find'the next term in the following
sequence.
94, 11B, 15C, 23D, ...

(A) 85E
(B) S7E
(C) 39

(D) None Of' above Answer — C

What will be the next figure in the
fpllo&?:[ng sequerce ?

(A) |

(B)

(C)

0

(D) None of the above Answer -8

=

*
1 _”

47 Ferfirias s aen e g A

9A, 118, 15C, 23D, ...

() 35E

(B) 37E

(C) 9

(D) m ifﬁé qﬂ Answer — C

e s ¥ onren g wnEm ¢

X | 4
AR N
Y h' :
A
X
2
0
(B)
0] X
() |
0 X\

(D) mﬁ%ﬁg;{ﬁ Answer — B



49.

50.

51.

It 'a' means +, 'b' means -, ¢’ means
x and 'd' means + then the value of
(BeT)e(Ta5)b(6d3)d(3b2)

(A) 650
(B) 375
(C) 670
(D) None of the above  Answer—c

What number will come In the blank
space in the following diagram ?

4
2

1
5

7|84
§ |45

3|14

|l | o

2|7

(A) 21 A\

ORI
O °

(©) Mt ‘ o

(D) Noné;Of aboye Answer-C

What will be nex! term in the
following sequence
H S FUD,?

(A) W
(8) Y
(C) O
(D) None of abiove

Answer - A

49.

50.

51.

HU 12

llll,'. ‘ 5' 8

77 ‘8" 7 oA + b’ W -, o
e x 3 1w ¢ 7 @
(Be7)c(7a5)b(6d34(3b2)
(A) 650

(B) 375

(C) 670

(D) 'ﬂ'ﬂﬁ T] 'G ﬁ'—\'ﬂ Answer - C

e R e e v %
27 g
mjih‘ﬁ"
M' o

3 (5|7 |3

2 [8lg
2

~ e [

(A) 21
(B) 19

(C) 17
([)) mﬁ 'a.?rg qﬁf Answer —C

* el srem A s @ wEm
HSFUD?
(A} W
B) Y
(C) O

(D) 3% ﬁa ﬁﬁ :ra Answer — A



